(2] DA EE_ Ry PILEBIRIATESLET
' M W R = ( B B =
T &
NE(HE % ] b
N R
| BEiEE
BEEAEET —z
BERET —=
Il FRERE —z BEEAFE x0.50
1l N it
NG FHERHBET
SHERL(10%)




(ikEEHREFE]

SHA4EE_ R YPILEBRRAEERERT TR EEHT
' H #HE | BMm(M) |[EEAGEM) BEREM) wm &
FHEERET - BRI |[HETB 1.0
WET
EBTaE BT & 2.0
Bl 2.0
ARIE 2.0
EIRAEEE 2.0
/INET
R BIHBFT OIRH g 3.0 1A X3E
AE HLE 3.0 30
ARIE 3.0
HH 3.0
EmEREEEE 1.0
\RE 2.0 TAX23H
PHEE~ X & 3.0
BEEERZ A Ny o 2 3.0
FRAvF+—H 12.0
FRTTEZ—HA 3.0
ENIEIE < IREBEHER 3.0
INET
N - B2 UNEE) — X 24.0 65 x4 A
THEM ) — X NATHhLY—2R 40.0 104 x 45 A
INEF
N - B Y v B E 2.0
JHMERE HLE 1.0
RRLE 1.0
H X 2.0
mEREEFE 1.0
FHEE~ R & 2.0
PR Z A Ny o X 2.0
FRAVF—H 8.0
FRTIVZ—H 2.0
BB < g8 atak 2.0
INE
GPSEWmDELEIFE |HiNa 2.0
(2#$25m) HRE 2.0
RLE 2.0
HH 2.0
RREREE - R —= 2.0
Y ILFGPS RS 2.0
EIRAEFE 2.0

PHEE~ R & 2.0




BEEEER 2 A Ry 7 R 2.0
F&RAVF—H 8.0
FRT7TUZ—H 2.0
AL < RBEHER 2.0
IINET
EIRREELTOEEE i E 2.0
X2 (28$29E) Bl & 2.0
RLE 2.0
HY 2.0
B - BR—= 2.0
YILFLTRE1 2.0
EERREER 2.0
BHEE~ R & 2.0
BEEERR & A Ny 7 R 2.0
F&AVF—H 8.0
FRTIX—H 2.0
A REsHak 2.0
INET
INBURRE TR eS| 20.0 58 x 47 B
Bl 20.0
AR 20.0
EE 20.0
EEREEE 20.0
IHR 4.0
BHEE~ R & 20.0
BEEERR & A Ny 7 R 20.0
FRAVF—H 80.0
FRT X —F 20.0
BABIE < fBHER 20.0
INET
B h 7> FRAE  |ERC 6.0 1BEIC1A3HR X 28
(2%%) g 12.0 1BEIC2 A3HR x 28
Bl 18.0
AR 18.0
H 2 (3%E0C) 6.0
H 12.0
SRR 6.0
FEp=EAv 12.0
BHEE~ R & 18.0
BEEEER 2 A Ry 7 R 18.0
F&RAVF—H 72.0
FRT7TIX—H 18.0
BAIE < gEsHER 18.0
IINET
RESIEMN BEmC 1.0
s g=1 3.0




e ERE 1.0

Z DOty JEAES 1.0
INE
At
BEEAGE
BEEREE
MERE BiEAHE x0.50
N BEAGE+EERE+HERE
N2 1,000KEIHE T
HEMR 10%
A =




